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Note :— This paper contain_s fifty (50) multiple-choice QueStions, each question

i

carrying two (2) marks. Attempt all the questions.
~ 2 wetoid naia (€0) agfasela usdl 8. £35 usqul A(R) 2
8. aEl Wadidl Ga @vil.

Give a term for a set of norms commonly accepted, understood and internalized

by a large number of people.
(A) Constitution ‘ (B) Interaction

(C) Institution (D) Aggregate
Wizl euotet st gt Achelad MHal R ekt s3en ulss i 2eiiv WA
satladl oe UL

(A s . ®) tiau

© W | (D) uyRA
Which 6ﬁe is not an-essential feature of a corhmunity ?
(A) Small size - (B) Residence
(C) Locality " (D) Heterogeneity
[Raetuiall 56 suotdt s %l{-;‘é.l.’-l"ﬂ o33 clgellsan ol ?

(A) ~ud s - B) W2

(€©) AR - @) wAAla
Give a term for standards of behaviour :

(A) Value - (B) Culture

(C) Structure | (D) Norms
adgisml MUESL M2l et 1)

(A) H&L (B) Ul

(©) LA o D) [l
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Which one of the following scholars did not consider matenal aspects
in the definition of culture ?

~(A) William Ogburn -~ (B) Arnold Toynbee
(C) Edward Tylor (D) M. Herskovits
AA-niell s Rg1 ArgR- euvani oiRs wansil OL@mQ‘lnL Qe el
A)- Qellan e ®)  wiriles Aurtoll
(©) Asas 2R D) 1. s

Indicate the appropriate sociological concept representing progressive
vertical mobility through achievement.

(A) Status set (B) Status sequence
(C) Status dynamics (D) Role consistency

Rueellatiqe ssunell qudl odl Aol slslladl 2 ciadudl wuerila Reua-dt
saldi

(A) %00 AN (B) e+l 54

©) éiwf{l AcULH el O oisirll Yaidtddl

Give a term for a number of roles associated with a single status :
(A) Multiple roles - (B) Role-set _

(C) Role conflict (D) Role performance

s &9 AA Asude P52l WY A2

@) ol eyfst B ML ayan

© ofs @) st eiasl

According to Parsons, which one of the following demgnates the ultlmate
source of social action in a society :

(A) Norms ~ (B) Customs
(C) Values | (D) Ritual
WRAAUAL Hllg AR WYHL AULrs B 3L vil 0lia suldl
(A) wiwl ® RaR
(© Yl - - @ R4 Run
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10.

Primary. groups are called primary because these groups are :
(A) Universal in character '

(B) Formed with feelings

(C) Exert formative influence on personality

(D) Characterised by cooperation

waHls s wadls Aeal W2 said & s 3 21 Al

@A) wd-(ls €lu 3. '

B daell asiflal siu 8.

(C) Aldcanl 4sdR Gur il 23 W D,

@) esi-l g 4 8.

Which one of the following is rot included in the category of primitive

.tribe in Gujarat ?

(A) Kotwalia (B) Kathodi

(C) Konkani . (D) Kolgha

Aol Faetiell 2R ol AL SiAL AHAA s4L 20 -l
@A) sieadlu (B) swuist |

© sissdl ®) saw

Which one of the following statements is true ?

(A) Unpaid domestic labour is of enormous significance to an economy |

(B) Organized labour only is significant to an economy

(C) Working in industries alone is significant to an economy

(D) Agricultural surplus is not so significant for urban economy
Pl 53 e 0 & ? |

(A) AR Y5 Ds VARGRUUL 305 Heedld SU D,

B) s vleqaUlHi s5d AR S ¥ Hecdd €iu B,

(©) SMUARAML 514 523G A % Aefonaral W Hecag €U B.

@) 3 vl QAR s §M Astag v Hecd Qg Aell.
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11.

12.

13.

14,

According to Randall Collins :

(A) Microsociology has no foundation
(B) Macrosociology has microfoundation
(C) Macrosociology has no foundation

(D) Microsociology has foundation

sy sifa-u HelgAR

(&) 3 WuyARA-l 56 2wl didl Aell.
(B) 618E AHIFAIRAL YA 2R 1Y D,
(©) o4t AHFARA 52 AR Sicll well.
D) Y WA UL U D).

Indicate who has given the idea of middle-range-theory ?

(A) Parsons (B) Durkheim
(C) Johnson . (D) Merton

- "HeRddiil Rigia [l Rk sid e ?
(A) WU B) gulsu
(©) A - @)

What is the basis of Dahrendorfs conflict theory ?
(A) Property

(B) Authority

(C) Religious fundamentalism

(D) Ownership of the means of production

B iraiden Aad Ruglasd 2R g8 ?
@ Masa

B A

(C) ubls sgdt

(D) Gewigrrl At Gu- wlad

Marx as a theoretician in his approach was

(A) Positivist (B) Idealist

(C) Historical determinist (D) Subjectivist

A5 Rglddl d3 wdu-l 200 sdt @ ? _
(A sl | B edad]

(O ARerls Ralasad) ) UG
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15.

16.

18,

17.

“According to Merton, latent functions are consequences that are :

(A) unintended but recognized by the actors
(B) intended but not recognized by the actors
(Cy unintended and unrecognized by the actors
(D) intended and recognized by the actors
WA MU vuse el A Rl 9 %

@) sdia) siaIan wa edlyd

B) sdld alal u dlyd

H(O) sl v e v vclsd

O sall e vin dlisd
“Education and backwardness are mversely related ” State whether this
statement is a/an :

(A) Theory (B) Research Problem
(C) Empirical study - (D) Hypothesis

"Riag A ueotdug) QU Bani dsudal 8" . [Qan g8 ?
A Rigld (B) AW Unt

(C) gAY, VLA D) Guscuri

In quota sampling, the dominant feature is :

(A) Randomly selected respondent

(B) Fixed number of respondents having certain specified characteristics
(C) Select any person you want till a fixed number is achieved
(D) Pick any criteria of choice to study the sample

sellel Redvd wym aaa 7

()  ugxo a e sAAe GuReluil

(B) AssA Alallsauadl aiadl 4sdl sl Avaudi-n @nzauuw

(€) s Alssu v YAl Grretarzil 1ol 2ud i Yell AR a3 acu

@) WAe suda Rede AR A a9 A ad 2iu- 52

The best technique which is cheap and efficient to collect data from
a large number of literate people is :

(A) Interview (B) Participant observation

(C) Questionnaire ' (D) Case study method

s QW v QR disi-i 2ieauml URA Asdt sarll wdl w4 gaa
Al Av uyla O,

(A yeustd - B Asowll Adlan

(©) s nadl | | D) Asi awx vYgla
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19. In which of the following studies was partlclpant observatlon
heavily ?
(A) Street Cornery Society
(B) The Elementary Forms of Religious Life
(C) White Collar Crime
(D) The Power Elite

@A) &332 s auudl

B) A sl vlis Nelloyu ass
©) 412 fldr s

D) 4R wdle

used

20. Which one of the followmg techniques is not associated with qualitative

research ?

(A) Participant observatmn (B) Oral history

(C) Unstructured interview (D) Structured questionnaire
Fatidll 55 uyfia s daliart 8 Asoude Al 7

(@) asewdll Mlaw ® Ml Slasr
(©) wd yeusd @ W w1l

21. Which one of the following books is not written by G. S. Ghurye ?

(A) Caste and Race in India (B) Caste in Modern India

(C) Caste, Class and Occupation (D) Caste and Class in India

|

| _

| fninl sut e Asewdll Rlaard osial (mtuOt Al wol ?
Roniell 5y Yods @, WA, 9N avig 2l 7

|

|

|

(A) sRS Vs 3 4 SEswL B 52 S Hisd SlFsu
(C) $122, SARL A6 vilsyUut D) 512 26 senn 9 SFsuL
22. No society is ‘Classless’ or ‘unstratified’ is a proposition made by :

(A) Coser and Rosenberg (B) Gerth and Mills
(C) Lipset and Bendix (D) Davis and Moore
ASusL Wy "R vadl "Bt )Rl v R s34R
Q) SN A el B) A -5 By

© RudzA-salsn D) SR - 3R
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23.

24.

25.

26.

Who made the following s_taterhent ? |
“Al civilizations pass through a similar cycle of birth, maturity and
death. The western civilization is now on its decline which is unavoidable.”

(A) Max Muller (B) Oswald Spengler
(C) Vilfredo Pareto - (D) Max Weber
A2 ealda Run 58 54 7

"ud AU ¥, Yoddt 2 Rrtaed 28 AL sl AR oy . Bl
AeUdL ¢ a-dl wsclui 8, ¥ 2l AsL AX |

(A) AsA a2 (B) 2izacs AeeR

© [QEsalal D) Asu AsR

The spread of the elements of outside culture among the tribal society
is known as :

(A) Diffusion (B) Innovation

(C) Progress (D) Integratmn

Rl Al vl cth‘t-u dardl »ed -

(A) M B Adig _ =
(©) waula | O Y-

The basic tenets of cyclical theory represent :

(A) Culture goes through unilinear path '

(B) Culture is rooted to the path of birth, growth and decline
(C) Culture goes from simple to complex

(D) Culture goes from homogeneity towards heterogeneity
AsicHs Rgidnl vl Hd g gald @ 7

(A) sl Asvlly va su B,

B) Al 2=, QA5 A et 04 S,

© ¥l mmll e sl WA 3.

D *Agla zme,ncumaﬂ wadoflal A% ad 9.

Measurement is :

(A) Concerned w1th numbers

(B) Concerned with scales

(C) A transformation of data into categories

D) Assngnmg a symbol to each item of mformatlon

HYs -

C(A) vyl e Asifaa 9.

B) wa wid Aoilad 9.
©) WA Aelui siead.
@) M- £35 BAsHIA Az dundl.
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217.

28.

29.

The case study method emphasxzes :

(A) Structural factors (B) General patterns

(C) Specific -experiences - D) Generahzed experience
s AUt Ul wedll GuR cu W 8 ?

(A) Hoeudy ulReowt (B) MU 304

(©) [@Akre vigmal | O Atdlgd M-J,oiql

In sociological research which one of the followmg is considered as
a respondent ?

. (A) Household : (B) Corporation
(C) Head of the household D) Vlllage
- DAl auoella Al Greidt B s P 7
Q) R | ® siiian
(C) 4l Yoo ulEq D) uM
Match the following : _ .
. Column I Column II
< (@) Goode and Hatt (1) Research Method in Social Relations
(b) Pauline Young (2) Methods in Social Research '
(¢) Jahoda et al (3) Scientific Sacial Surveys and Research
(d) C. A. Moser (4) Methods in Social Investigations
- Codes : _ . _ .
| (@) ®» (@ (d)
(&) 2" 3 (1) (4)
B @ . @ (1) )
© @ (1) @ 3
(D) (1) - (2) 4) -3
AL ASSHL ASL. - »
Asst I . AssL Il
(@ AS NS g (1) Rud Aasy S e Aawr
®) el ¥ (2) Ausy S+t Al Aud |
O wEISL A Y (3) AUAGs Wua ud s Aud
(@ A A HR (4) AusA, S+t Al SrRANUA
Codes : . - .
(@) (b) (© (@
(A) 2) 3 1) CY
(B) 3) 2) (D @
© (2) 4y 4 @ -
D) 1 (2) 4) (&)
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30.

31. -

32.

33.

Which one of the following statements is correct ?
(A) Pure research is devoid of any practical use.

(B) Applied research is independent of pure research.
(C) Pure research and applied research are inter-related.
(D) Applied research and pure research are not related.
AAniie) sy Qs iy © ? -

(A) Yo dallas R gl Guaidll .

(B) asli]s Asad N Yg Aellanl adA 8.

(€ Ya Aalast A aaeils dallast sisefin 0 dellq 8.

©) ae1ls Atart A Yo daladt A Asudel 4.

In the election study which one of the following is largely used 7 -

(A) Attitudinal study (B) Experimental study

(C) Opinion Poll (D) Census |

2jeellrl viedridl Hial oudl QA-unidl si-l Guuiot w8 7

(A) YdALYSd oA - | (B As v

(@ -l wia N D) I _
Which one of the following is the source of reference group behavmur
elaborated by R. K. Merton ?

(A) Street Corner Society

(B) The American Soldier

(C) Post-Industrial Society

(D) Social Theory and Social Structure

il 202, 3. 482 Rsuaa el ane ad--tl Ruglari wid s & 7

@) W2 si42 dRuad

B) & 2R 5L AN

(C) W2 S-saflud Wxdl

(D) Aia Pu] 216 Al R5AL

In the year 1954, which Act was passed ? :

(A) Hindu Marriage Act (B) Sharda Act

(C) Special Marrlage Act (D) Child Marriage Act

SlRAM LEWE Hi 541 SIMEL MRUR ST 2L T

Q) [8g A3 w52 (B) WL A2

() Nwa A3y N2 D) UM @d W

- Socio.—IT 11 | - P.T.O.



s ?
(A) drs (B) UYsq, &
© 4R ® [Qrddgda
35. In a capitalist. econorny, goods and service are produced with a concern
for :
(A) Immediate requn'ements (B) Profit -
(C) Subsistence (D) Common good o
HSlUEl vderarurnl argil A Al Guer ¥ dgell wa d A 8
(A) cadld suASAL (B) +isl
(C) @an, wyA (D) Adr [Bd
36. Match the following authors to their contribution :
Column 1 Column 11
(@) Davis and Moore (1) Study of Proletariat
(b} Max Weber (2) Functional theory of Stratification
(¢) Ralf Dahrendorf (3) Study of class, status and party _
" (d) Karl Marx (4) Study of class conflict in industrial society -
Codes
(@ (b) (c) (D
(A) (2) (3) 4 (1)
B O (2 (1) (@)
C) 4) (1) ) (3)
(D) (1) (4 - (3) 2)
DAL Auigial At H100L WA RS, o
slan 1 C slen 1l
(@ SR A5 (1) sl »iis Ldlxe
() AsAAoR (2) gsuna ful A8 A5
(© UE SerglE (8) sl wiis s, 2 A W
(@ std uiu (4) w2 2lis s sivsellse S Sreaflua uknadl.
Codes : - _
(@) (b) - {0 (@
(A) 2) 3 4 (1)
(B) (3 @ (1) . 4
(®) 4) ¢ (@) 3
D) (1) (4) 3 (2)
Socio.—II ' 12

coparcenary rights is known :

(A) Tarawad

: (C) Household

34. The form of family where a father hves with his marned sons and shares

(B) Joint family
(D) Extended family

%‘&3 AW AL (et A=t welld At WA Q B w17, wRURN w58l oA B AA 8



39.

40.

37.

_ 38.

The social and cultural construction of differenc'es between males and
females is called :

(A) Race (B) Ethnicity
(C) Gender (D) Sex '
M 2t wf] a2l AUS A Aikglas QeI€lse vied
A) a1k _ : B A1
(©) dd0s (¥-s2) O ey

In the market economy :

(A) There is a provision of fair prlce shop by the government
(B) Government intervention is kept to a minimum

(C) Government intervention is kept to a maximum

(D) Commodity markets are only local in- scope

o3 vdeyautni ¢

(&) AT Usd e+l goinrl e eiu 8,

B) A5l vl yridH 8 B,

(C) us12+l ewadll¥] ugdu W B,

(D) AR [AsU §5c ARS A 2y S8,

In social science research the ability of measure to reproduce findings
of an earlier study is known as :

(A) Validity (B) Reliability

(C) Prediction (D) Exploration

A1 Rstirtvll AL 2OUGHL oAU 20D yiyledl axa (Qdl :Racl
(A) MHIRLCYctdL ®) [eaulaydl

(©) uadl D) AN

- Which one of the following is the correct statement ? - -

(A) Socialization is a process which relates to learning during childhood
(B) Learning of roles on occupying a given position is socialization
(C) Socialization ends with attainment of adulthood

(D) Socialization is a process of learning which is life long
(Atiel sy Qe 0y S ?

@) Wwlrsa-t uBu cuanani el wldu WA Asuddl 9.

(B) Asue Wi sul wedl a-dl 0l Asndell oy fug A wlrse 8,

(© AGULYSRL AUBd qusiaRal Witd 53 -l WA Y3 aa 8.

@) AR5 Wil 215 Rl WBEU B ¥ anudd wd 8,

Socio.—II | - 13 P.T.O.
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What is not the form of resocialization ?

41.
(A) Relearning of values ' (B) Learning of roles
(C) Vocational training - (D) Psycho-therapy
Yet: APUCKS QAL 2AFUML Al A Al el ?
(A YA $3 ual (B) oRsiA Aludl
- (€) cuquls dielly (D) wdaAs Guar ygla
42. Which one of the following co-exists in a mixed economy ?
. (A) Socialism and communism '
(B) Feudalism and capitalism
(C) Community ownership and state ownership
(D) Private ownership and public ownership
(ool s AL sdoraraidl g Asrrica 41 8 7
(A) AL VA ARULLE
(B) unidale - yslae
(€) wWHeRSs Al 2 vorudl wilad
D) vl wlasl A ndR uladt
43. What is involved during the process of expemment ?
(A) Case study , (B) Controlling variables
(€) Theory (D) None of the above
ol UGB e Aol o iy B ?
(A AulBas awi ® Reslld wRacl
(©) Rgid g @) Gu-unidl Asup adl
44. The process by which each unit of a population is given equal chance
| “to be included in the sample is called :
(A) Purposive : (B) Random
(C) Stratified (D) Accidental
B AHIAAL £35 A5uA (Aedlui A2 viaadl Wit ds st 204 8 cud d
[Redd g senud ?
(A) egyds (B) g9
©€) xdd D) usails
45. From the below mentioned words, indicate the meaning of ‘mean’ :
(A) Middle point (B) Mode
©) Correlatmn . : (D) Average
12 eulden uoeini A2l 2 ealdl :
(A) x4 B sgas
(C) Asioly o @) ANl
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46.

47.

49,

50.

The idea of network of social relationships was used in the analysis
of social structure by :

(A) Robert Merton (B) Talcott Parsons
(C) Levy-Strauss " (D) S.F. Nadel
CAruls o ANl aBrs Aot s QA Gualoy sul sdi q
(A) UGS HWéq | (B) 214512 WA
©) adl (D) AU RS, s
. The scholar who studied structural principles of kinship is :
(A) Malinowski (B) Merton
(C) Durkheim ‘ (D) Radcliffe Brown
AR AAUHS Rigicil Guaidl s4l 4 Qg
@) AR-dia8l B) WA
(©) guldn ) R8sels sbn
In the view of Levy-Strauss, what is important in marriage ?
(A) Exchange of sisters (B) Exchange of things
- (C) Monetary transactions . (D) Self interest |
Al 3 Mol YOl QAL g ot S D ? f
(A) “e-iqi QR (B) it ARy |
(©) iy dqs zas @) ol e

The term ‘life-chances’ used by Max Weber refers to :
(A) The number of years an individual can expect to 11ve at blrth

(B) The chances of survival in a game

(C) The opportunities a person has because of his class situation
(D) The style of life a person leads

A5 QoR B aryial "wadll dsl” aserl wl B,

(A) % avid 215 al3d Jedl aul wad a-l 2dai

B) As AUl g DarteA

(€) @il Rafan ld AuBaA wadl s

D) Al wa~t ddl

Protestantism, according to Max Weber, gave rise to :

(A) Capitalism (B) Spirit of capitalism
(C) Mercantile capitalism (D) Industrial capitalism
Uizeerzaten A Asy Q611 Ml IR el oyt 2l ?

(A) yslae (B) ¥Slaledl eua-iy

© Aulks 151% @ ieiolis ydlae.
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